System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE

FENCING, STALLS,
TACK E EQUIPMENT

Flush Latch Installation Instructions

The door has already been mounted and shimmed, and the jam is flush to the door
front and the gap between the door and jam on the latch side is /2" or less.

STEP 1

Check the kit to verify all parts are included.

ITEM Exploded View with
DESCRIPTION all Parks and
Harchware /QTY.

LATCH PIVOT PLATE 1
SWING PIN 1

LATCH PIVGT BASE PLATE 1
CATCH PFIVCT TGP FLATE 1
5/16" CARRIAGE BOLTx3 2
370 CARRIAGE BOLTx 3 5
5/18" NUT 2
2

1

1

I

|

1

5

z
@

T7ETHOT
SWING WELDMENT
FLUSH PVOTLATCH CAM
FLUSH HANDLE
FLUSH PLATE
LEFT LATCH STRIKER PLATE

#8 x 1-1/2" ROBERTSON
HEAD LAGSCREW

=| 5| 0| o ~f o oo 2 o ryf —

5]

Page | of 8 Flush Latch Instructions
Feb28/07 Rev0



System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE'

FENCING, STALLS,
TACK & EQUIPMENT

STEP 2

Pick the appropriate Template for door opening direction. See full size 8-1/2" x
117 sheets. (Print PDF file at 1:1 scale, NOT fit to sheet).
Check that template is accurate by verifying 5-7/8” dimension with tape measure.

N {
O |
1 ;
Ov\' e o ‘\“‘::"..L E
FLLISH LaTH CENTER LiIE i
&
O TowWER B LINE H
Knnm = O 8
“mﬂ O e
e
l o
—— 113 HLE ‘#O
g FLAISH LATOCH CENTEM Lises
a e N/AT HOE ey
£
= s
Page 2 of 8 Flush Latch Instructions

Feb28/07 Revi



B

s p 0 ?J\VUA/ )

TEMPLATE FOR T 2K & /152 LATGH

EDGE OF DOOP
TAME

DET Yo~dbn.c,
DR USE Y LAG. 5ck.

5 . 798" .
) 3 - -
FRomé 1o | Fy ,..j,é o
EDGE OFTAMA >~ »
|
3 { .
| R ’
i U
4 R
™ f
‘P\\‘;‘\ L \
QI

<

N
m%

/
L

DRILL V2 rHRD DDOR

DAT Va-lb M.C. DFT /-0 ML,
DN BOTH S1DES oF DooR|{ AR DRILL Sa® rueu

ORDRILL /8¢ THRL DOOR \ NpLR FOR i (,9,9‘\
FOR /L CRRRIAGE BolT _

N
!

OFT I200.£. O

SUPPLIED
LUSE HIYF Hw.S SOPPLIED
Bortom oF pooR |
NOTE :
B R FOR ~REERPER USE [/4-0/8/3 RS TEMP,
ISSUE ISSUED BY : REVISION : - < " DATE | APPR.
oriematen By S.A.L. |oATE APR. lo-lols|checken ¥ TT |aver. | sweer

Richards-Wilcox company DS-L408 4

Form F59-033




System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE’

FENCING, STALLS,
TACK & EQUIPMENT

Place Template on door;
- 27 from inside of Door Jam to Reference Edge.
- *40” from floor to Flush Latch Centerline

e Height depends on application, check door instructions

FLUSH LATCH  /
CENTERLINE —/

L
DETAIL A
i SCALET:4
1L e O}
Page 3 of 8 Flush Latch Instructions

Feb.28/07 Revl



System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE'

FENCING, STALLS,
TACK & EQUIPMENT

STEP 4

Use an Awl or Center Punch to mark the hole locations by punching through the
paper template and into the door.

Drill through the door with - 1x 15/32” hole (for Flush Handle)
-2x  13/32” holes (for 3/8” Carriage Bolts)
-2x 11/32” holes (for 5/16™ Carriage Bolts)

As shown on template

STEP 5

Cut Flush Handle Rod to appropriate length, based on door thickness.

-

_17

75
DOOR . . v
THICKNESS A
J— REGLIRED ROID

LENGTH

# 15/16" l

E
l DOOR REQUIRED ROD CUT LENGTH
‘ THICKNESS LENGTH
7 STD. (2-3/16") DO NOT CUT
1-3/4" 1-16/186" CUT 144"
172" 1-11/18" CuT 12
Page 4 of 8 Flush Latch Instructions

Feb.28/07 Revl



System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE’

FENCING, STALLS,
TACK & EQUIPMENT

STEP 6

Attach Latch to the door front using the provided hardware.

5/1¢" x 3" CARRIAGE BOLT

3/8" x 3" CARRIAGE BOLT

DETAIL A
SCALE T : 4

Page 5 of 8 Flush Latch Instructions
Feb28/07 Revl



System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE

FENCING, STALLS,
TACK & EQUIPMENT

STEP 7

Using a 2-3/4” Diameter Hole Saw and Electric Drill, bore a %™ deep hole into
the door in line with the middle 15/32” hole that you drilled from the far side. Slide the
Flush Handle & Flush Plate Assembly in through this hole., Make sure to install the
Flush Pivot Latch Cam on the other side of the door as you slide the assembly in.
Fasten with nuts on back side of door as shown. Secure the Flush Plate with the 2 x - #8
x 1-1/2” Robertson Head Lag Screws.

2-3/4" DIA
HOLE x 3/4"
DEEP
378" NUTS \\
” 5/16' NUTS
K“\L_/
DETAIL A
SCALE . 4
Page 6 of 8 Flush Latch Instructions

Febh.28/07 Revl



System Equine

1(800) 461-3362 - Sales@SystemEquine.com « SystemEquine.com

SYSTEM EQUINE’

FEMCING, STALLS,
TACK & EQUIPMENT

STEP 8

Line up Striker Plate with the notch in the bottom of the Swing Weldment and
centered on the Door Jam. Mark the hole locations with an Awl or Center Punch as
before and drill 3x — 3/16” holes as shown. Insert the #8 x 1-1/2" Robertson Screws to
secure.

—3X #8 x 1-1 /2"

ﬁ%ﬂ SCREWs
i |
| |
| |
| |
i I
| I
! |
! |
| |
—__ll|
SCALE 172
Page 7 of 8 Flush Latch Instructions

Feb.28/()7 Revl



System Equine 1(800) 461-3362 - Sales@SystemEquine.com - SystemEquine.com

SYSTEM EQUINE

FEMNCING, STALLS,
TACK & EQUIPMENT

STEP 9

Completed Flush Latch on Door shown from the front.

DETAIL A
SCALET =4

...and the back.

DETAIL A ‘L\‘ :

SCALET:3

Finished!

Page 8 of 8 Flush Latch Instructions
Feb28/07 Revi



